N 2 2 ) M 2 L 2 2 g A H 2
A 460 E0HHAED /M3 4,014 12,513 3,35 19,852 | 050301021
S0« 2204
# M3 OFCHZ: @ A = 1/0.7 <M3/JH> = 1.43 <H/N3>
TH2H © 1.43 <OH>
H:o
Ry
8802
.38 <01> + 84,166 * 1.43 <IH> / 10 <> = 4,573.5 4,573.5 4,573.5
24:7((0.213)
A B ;10,597 * 1.34 <HR> / 10 <Ji> = 1,419.9 1,419.9 1,419.9
LCRH 0 23,389 * 1.34 <HR> / 10 <H> = 3 134.1 3,131 3,134.1
T2H : 8,796 * 1.34 <HR> / 10 <> = 1,178.6 1,178.6 1,178.6
H o 1mssep ror6) 1489) 10,306. 1.
AN
) BEE0Ig
0.24 <Q1> » 84,166 + 1.43 <> / 10 <> = 2,888.5 2.888.5 2.888.5
) ZA((1.0M3)
% Hl : 23,233 * 0.82 <HR> / 10 <IH> = 1,905.1 1,905. 1 1,905.1
24 23,389 * 0.82 <HR> / 10 <> = 1,917.8 1,917.8 1,917.8
XHEtH 34,590 * 0.82 <HR> / 10 <Jf> = 2,836.3 2,8%.3 2,83%.3
A 2863 48063 19.1) 9,%47.7
e 40149 _____ 12,513.9 3,3%5.0 19,853.8




o g 2 A M2 4 L2y 2 g H 2
A 4460 EOIIED /M3 2,8% 4,806 1,905 9,547 | Y050301022
1. E0tH

# OINBEE OFCHZ: @ A = 1/0.7 <M3/H> = 1.43 <H/N3>
2.8 J|

1) B0

0.24 <01> + 84,166 * 1.43 <> / 10 <I> = 2,888.5 2,888.5 2,888.5
2) ZA[(1.0M3)

A oHl : 23,233 * 0.82 <HR> / 10 <> = 1,905.1 1,905.1 1,905. 1

C2H 23,389 * 0.82 <HR> / 10 <J§> = 1,917.8 1,917.8 1,917.8

TEHl ;34,500 * 0.82 <HR> / 10 <JH> = 2,836.3 2,8%.3 2,8%.3
E 2863 48063 198.1) 9,547.7

HH

| & 2,8% 4,806 1,906 9,547




At =S 2 A M2 4 L2y 2 g H 2
A 460 E0IHAED L I /1IN 6,851 17,320 5,230 29,401 | Y050301023
1. EMH CEEHY
e D+LH¢ A=1/0.7 <W3/H> = 1.43 <H/MD>
HEHI 1.43 <H>
e e e e
2. B
1) BE0g
0.38 <QI> = 84,166 * 1.43 <> / 10 <> = 4,573.5 4,573.5 4,573.5
2) 2A1(0.2M3)
A oHl : 10,597 + 1.34 <HR> / 10 <OH> = 1,419.9 1,419.9 1,419.9
C2H 23,389 * 1.34 <HR> / 10 <Of> :3 134.1 3,134.1 3,134.1
TMEH : 8,796 * 1.34 <HR> / 10 <Oi> = 1,178.6 1,178.6 1,178.6
E | o 1mssep ror6) 1489) 10,306. 1.
3.4 7
1) BE0Ig
0.24 <QI> = 84,166 * 1.43 <> / 10 <> = 2,888.5 2,888.5 2,888.5
2) 2AJ1(1.0M3)
A Hl : 23,233  0.82 <HR> / 10 <> = 1,905.1 1,905.1 1,905. 1
L 2H 23,389 * 0.82 <HR> / 10 <> = 1,917.8 1,917.8 1,917.8
TWMEH ;34,500 * 0.82 <HR> / 10 <JH> = 2,836.3 2,8%.3 2,8%.3
E | 2863 48063 19.1) 9,%47.7
4,8 |
1) 2E0I8
0.24 <01> + 84,166 * 1.43 <HH> / 10 <I> = 2,888.5 2,888.5 2,888.5
2) 2AJ1(1.0M3)
A Hl 23,233 « 0.82 <HR> / 10 <IH> = 1,905.1 1,905. 1 1,905. 1
L 2H 0 23,389 * 0.82 <HR> / 10 <Ji> = 1,917.8 1,917.8 1,917.8
WEH 34,590 « 0.82 <HR> / 10 <IH> = 2,836.3 2.8%.3 2,8%.3
& A 2863 48063 18mw.1) 9,947.7
H o682 ____ 17302 _____520.0|_ _____204005
HH A 6,851 17,320 5,230 29,401




